RERE-AIVITRERRISOVTHEER A

M1/25¢,E D mEttEtES L
65
100Bg/ kg% X 5L D0
BRERKE
No BT EA HElniELE tr 134 t 9 L-137 EEE
Ba. kg Ba. kg Ba ke
1 =Tl R5.1.26 =S| BREEI(<1T) BRHEE9(<6.4) BRHEEY
2 mET R5.1.26 =SS BREE9(<8.2) BREE9(L7.1) - Janpcic N
3 mET R5.1.26 =SS BREE9(<8.1) BREE9(<6.7) - Janpcc N
4 mET R5.1.26 =SS BRHE9(<8.0) BREE9(<6.9) L Janpcc N
5 mET R5.1.26 =SS BREE3(<74) BREE9(L7.1) - Janpcic N
6 mET R5.1.26 =SS BREE9(<7.9) BREE9(<7.3) - Janpcc N

BaBEE B2 —REBROREE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)




RERE-AIVITRERRISOVTHEER A

@1/26LE 5 mEttEtES L
145
100Bg/ kg% X 5L D0
BRERKE

No BT R HE HElniELE tr 134 t 9 L-137 EEE

Ba. kg Ba. kg Ba ke
1 RFF R5.1.27 =S| BREE9(<94) BREE9(<74) BRHEEY
2 ;N N R5.1.27 =S| BRHE9(<8.5) BRHEE9(<8.3) - Janpcic N
3 ;N N R5.1.27 =S| BRHE9(<6.3) BREE9(<6.9) - Janpcc N
4 AR R5.1.27 =S| BREE9(<9.7) BREE9(<7.3) L Janpcc N
5 AR R5.1.27 =S| BREE3(<74) BREE9(<84) - Janpcic N
6 BREEAT R5.1.27 =S| BREE9(<9.8) BREE9(<7.0) - Janpcc N
7 AREEHT R5.1.27 =SS BREE9(<9.8) BRHE9(<6.5) Ly Janhcc N
8 Bf™ R5.1.27 =SS BRHE(<6.7) BRHE9(<6.8) BRHET
9 INEFHT R5.1.27 =SS BRHET(<11) BRHET(<8.0) BRHET
10 INEFHT R5.1.27 =SS BRHEE9(<8.5) BREE9(<7.9) L Janpcac N
11 RIGH R5.1.27 =SS BRHET(<L7.9) BRHE(<8.3) BRHET
12 LT R5.1.27 4R BRHEE9(<9.3) BHE9(<8.3) cJaehcac
13 REH R5.1.27 4R BRHEE9(<8.2) BRHE9(<6.2) cJaehcac
14 A R5.1.27 4R BRHEE9(<8.3) BRHE9(<8.2) caehcac

BREEERICBT2—BEROEEE 9L :100Ba/kg(E ™ L-134, £ H L-13TOEE(E)




